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 – I 

           : 
1.    . 14 
 2.    .  14 
 3.     .  14 
 4.     ,     .  14 
 5. HIV/AIDS     .  14 
 6. HIV/AIDS  . 14 
 7.    .  14 
 8.       .  14 
 

 – II 
9.      ( ) 8 
 (1)  ______     .   
    (, , ) 
 (2)   ______  . (, , )  
 (3) _______      .  
    (, , ) 
 (4)  ______    .  
    (, , ) 
 (5)   ______   .  
    (..., ..., ..)  
 (6)  ______  .  (, , )  
 (7)      ______   .  
    (32, 42, 52)  
 (8)      ______   .  
    (1983, 1993, 2003) 

____________ 
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 Section – I 
  From the eight questions given below, answer any three :  

 1. Discuss the characteristics of Social Problems. 14 
 2. Describe the Types of Social Problem. 14 
 3. Discuss the causes of Social Deviation. 14 
 4. Give the meaning of Social Conformity. State the factors responsible for it.  14 
 5. State the factors responsible for the problem of HIV/AIDS. 14 
 6. State the impact of HIV/AIDS. 14 
 7. Discuss Nature of Youth. 14 
 8. Explain the unemployment effect and remedial measures. 14 
 Section – II 
9. Select right option : (Any four) 8 
 (1) Dowry is a problem related to ______ construction.  
    (Family, Political, Cultural) 
 (2) Frontier conflicts are ______ problems.  
    (Economic, Political, Social) 
 (3) _______ creates behaviour following the standards in the society.  
    (Socialization, Culturalization, Industrialization)  
 (4) Untouchability is a problem of the _______ community.  
    (Regional, National, International) 
 (5) The virus of AIDS are known as ______.  
    (H.I.V., S.I.V., S.Y.Z.)  
 (6) AIDS is a ______ disease.  
    (Mental, Cultural, Sexual) 
 (7) The percentage of the youth in the population of India is ______.  
    (32, 42, 52) 
 (8) The Prime Minister’s employment scheme to overcome unemployment is 

introduce in the year ______.  
    (1983, 1993, 2003)  

____________ 


